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Exercise 1A 

1.  

Rational: -8, 0.7, √𝟐𝟕
𝟑

, 1007, √𝟖𝟏, 
𝟖

𝟏𝟏
, 

0.8, 2 
𝟑

𝟓
, √−𝟖

𝟑
 

Irrational: 15.4 𝝅 , -√𝟑 ,  √𝟓
𝟑

 , √𝟏𝟎 

Not: √−𝟓 

 

2. D 

3.  

a) -2, 81, √𝟗 

b) 0.3,  
𝟐

𝟗
  

c) 3 𝝅 , √𝟓 

 



 

4.  

a) irrational 

b) rational or irrational 

c) rational 

 

5. a) False 

b) False 

c) True 

d) True 

e) False 
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Exercise 1B 

1. a, d 

2. a) True 

b) False 

c) True 

d) False 

e) True 

 f) True 

 



 

3.  

a) 7 

b) 8 

c) 59 – 49 = 10 

     64 – 49 = 15 

     10/15 ≈ 0.7 (to 1 d.p.) 

      7 + 0.7 = 7.7 

 

7.  

a) 2 

b) 3 

c) 10 – 8 = 2 

     27 – 8 = 19 

     2/19 ≈ 0.1 (to 1 d.p.) 

      2 + 0.1 = 2.1 

  

 

 

 

 

 



 

 

12.  

a)  Area of the square = Length 2 

              Length =  √𝑨𝒓𝒆𝒂 𝒐𝒇 𝒕𝒉𝒆 𝒔𝒒𝒖𝒂𝒓𝒆 

     √𝟏𝟔 = 4 

     √𝟐𝟓  = 5 

     17 - 16 =1 

     25 – 16 = 9 

     1/9 ≈ 0.1 (to 1 d.p.) 

     4 + 0.1 = 4.1 cm = 41 mm 

13. 

a) Volume of the cube = Length 3 

              Length =  √𝐕𝐨𝐥𝐮𝐦𝐞 𝐨𝐟 𝐭𝐡𝐞 𝐜𝐮𝐛𝐞
𝟑  

     √𝟐𝟕
𝟑

 = 3 

     √𝟔𝟒
𝟑

 = 4 

     50 - 27 = 23 

     64 - 27 = 37 

     23/37 ≈ 0.6 (to 1 d.p.) 

     3 + 0.6 = 3.6 cm = 36 mm 
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Exercise 1C 

1.  

a) 4 

b) 5-6 

c) 4 

 

2.  

a) 
𝟏

𝟕
 

b) 
𝟏

𝟑
 

c) 
𝟏

𝟒
 

d) 
𝟏

𝟖
 

e) 
𝟏

𝟐𝟓
 

 f) 
𝟏

𝟐𝟕
 

 

 

 

 



 

 

 

3.  

a) 23 

b) 21 

c) 2-1 

d) 2-4 

e) 20 

 

4.  

a) 33 

b) 3-2 

c) 3-1 

d) 31 

e) 30 

f) 3-4 

 

5.  

-1 

 

 



 

 

6.  

a) False 

b) False 

c) False 

d) True 

e) True 

f) False 

 

7.  

a)6-1 

b)2-1 

c)20-1 

d)100-1 = 10-2 

e) 4-2 = 2-4 

f) 5-3 

 

8.  

a) 
𝟏

𝟐𝟓
 

b) 
𝟏

𝟓𝟏𝟐
 



 

 11. 

   10-3 

𝟏

𝟏𝟎 𝟎𝟎𝟎
 = 10-4 

          
𝟏

𝟏𝟎𝟎 𝟎𝟎𝟎
 = 10-5 

 

12. Leave your answer in positive index 

form. 

a) 5−2 =   
1

52 

b) 4−9 =  
1

49 

c) 2−6 =  
1

26 

d) 9−3 =  
1

93 

e) 6−6 =  
1

66 

f) 12−20 =   
1

1220 

g) 11−3 =   
1

113 

h) 3−8 =   
1

38 

i) 7−6 =   
1

76 

j) 24 
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8. Leave your answer in positive index 

form. 

a) 57 

b) 86 

c) 3-5 = 
1

35 

d) 413 

e) 4-3 = 
1

43 

f) 6-5 = 
1

65 

g) 8-3 = 
1

83 

h) 9-12 = 
1

912 

i) 1 

j) 6 

k)1 
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2.  

a) 212 

b) 23 x 32 x 55 

c) 23 

d) 103 

e) 6y2 

f) 5t3𝑥 

 

6. 

a)2 

b)4 

c)-6 

d)5 

e)2 

 f)3 

 

 



 

 

 

7. Write as a fraction in its simplest form. 

a) 
1

125
 

b) 
8

1
 

c) 
9

1
 

d) 
3

1
 

e) 
125

8
 = 15 

5

8
 

 f) 
16

1
 

 


